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https://drive.google.com/open?id=0B-ob6L_QjGLpZHlCSE9JdHNYOW8 NEW QUESTION 1A vSphere administrator has been

tasked with ensuring that 500 virtual desktops are unable to communicate with one another, but can communicate with required

services. Which two solutions does VMware recommend? (Choose two.) A.    vSphere Host FirewallB.    Private VLANC.   

VMware NSX Distributed FirewallD.    Port Filtering  Answer: BC NEW QUESTION 2A vSphere administrator has been tasked

with enabling upstream failure detection for networking in an environment that does not support link state tracking. Which statement

is a VMware recommended option? A.    Satisfy prerequisites and enable Beacon probing.B.    Enable Explicit failover order and

ensure Failback is selected.C.    Enable Explicit failover order and ensure Notify Switches is selected.D.    Configure a port-channel

with LACP. Answer: A NEW QUESTION 3What three steps are necessary to enable Jumbo Frames for use with an iSCSI storage

array? (Choose three.) A.    Configure the MTU on the VMKernel port.B.    Configure the MTU on the virtual switch.C.    Configure

the MTU on the physical switch.D.    Configure the MTU on the LAG group.E.    Configure the MTU on the VTEP. Answer: ABC

NEW QUESTION 4When trying to export the vApp to the OVF, the option is grayed out. What solution allows for the export of a

vApp? A.    The vApp is marked as Non-Exportable.B.    Logout of the vSphere Client and use the vSphere WebClient.C.    Change

the portgroup where the VMs are connected to.D.    PowerOff the vApp. Answer: D NEW QUESTION 5Which two formats are

supported for exporting a VM to a storage media? (Choose two.) A.    EXEB.    OVFC.    OVAD.    ISO Answer: BC NEW

QUESTION 6Which two resource types can be limited on the vApp level? (Choose two.) A.    NetworkB.    CPUC.    StorageD.   

Memory Answer: BD NEW QUESTION 7A vSphere administrator is required to apply security hardening policies following the

VMware vSphere Hardening Guide recommendations. Which tool enables native compliance reporting for these guidelines? A.   

VMware vCenter ServerB.    VMware vRealize Operations ManagerC.    VMware vSphere Update ManagerD.    VMware AirWatch

Answer: B NEW QUESTION 8Which state does VMware recommend an ESXi host be in before removing the ESXi host from a

DRS cluster? A.    Powered offB.    Quarantine modeC.    DisconnectedD.    Maintenance mode Answer: D NEW QUESTION 9

Which password meets the default password requirements in ESXi 6.x? A.    Xqa_hin3B.    xTaMEhb!C.    xQA!3hD.    Xqavntthi3

Answer: B NEW QUESTION 10Which function key command will allow a vSphere administrator to access ESXi shell? A.    Alt +

F12B.    Alt + F1C.    Alt + F2D.    Alt + F11 Answer: B NEW QUESTION 11Which two statements are correct when licensing an

ESXi 6.x host? (Choose two.) A.    ESXi licenses can only applied to ESXi hosts connected to a vCenter Server.B.    Bulk licensing

requires vSphere Auto Deploy to be enabled.C.    ESXi licenses can be assigned utilizing the ESXi host client.D.    Bulk licensing

requires vSphere PowerCLI. Answer: CD NEW QUESTION 12Which two statements are true about LACP support with the

vSphere Distributed Switch? (Choose two.) A.    LACP works with MAC hash load balancing.B.    LACP works with software

iSCSI multipathing.C.    LACP does not work with host profiles.D.    LACP does not work with port mirroring. Answer: CD NEW
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